Operations with Two Fractions (B)

Name: Date:
Calculate each result.
1 l_>< 3 _
- 3%X7 —
2 4 X 8
9717
3 1 +-]' + =
- 313 =
4 1 +-3 + =
- gt12 =
5 1 - 6 X =
- 373 =
; 1 1 _
- 373 =
7 1 - 4 X =
375 -
8 1 +-S + =
- ote =
9 1 = 3 X =
- 3773 =
10 2:x 1 =
- 3%X5 =

Score:
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Operations with Two Fractions (B) Answers

Name: Date:
Calculate each result.

) 1><3 3 1
3774 12~ 4
, A8 32
9717 153
Ll 1112
33 33 3
, 1.3 1,6 _7
8 4 8 8 8
1.6 _ 1.7 _ 7
277 276 12
) 1 1 3.2 1
2 03 6 6 6
1.4 1.2 -2
375 374 12
Ll,5 _2 15 17
"9 6 18 18 18
. 1 3 1><4—4
374 373 9
" 2X1 2 !
372 6 -3

Score:
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